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@ sin?30° + cos?45° =

@ sin%60° + cos?30° =

N =N W

® tan4b° = cosd5° = V2

2
@ cos?45°x tan60° = ?\/_

. 1
® sin90°x cos60° —cos90° x tan 60° = 5
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11. S5 x o g oA 7F 2 A27 (F, 0° <x<90° °]t. )

® tanx= V3 @ sin(x+10°) = 1

® cos(2x—10°) = ? @ tan(2x+30°) =1
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(3 sinx = cos x



12. sinx = 0.2419, tany = 0.2867 & o, t}=

x+y o & Ford?

oA Fol &

2t sin cos tan
14° 0,2419 0,9703 0.2493
15° 0,2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
@D 19° ® 30° 3 31° @ 32° (B) 33°
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34°
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Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 3 29.107
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